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G_sei) 6_=p (V) o _> u(n) L s w ) 2> x(n)
G_=e(d) 6_=p(1) = U (3) vl = w(S) 2 <x(p)
0C_Sey@ | 9l_>L-PED| SL-<ulgp | zcscl-w( gl >x9 )
L s> 3(d) L_>X(N) omwi: L_>2Z(Y) e_s=n(q)
L =1(3) L_<X(3) mixv L_<z(D) €_ = n(0)
0E <€l +1gD wmlewe gl = _ E_<v+2Z(p =L -ngp
12 = x(X) Lo > X (V) 6 > X (N) 2 > x(m) G=Xx ()
12 =x(d) Lo < x(3) 6 <Xx(d) 2 <x(3) G = x(S)
ev_>X_@ | Y>SLEXE)| L->0l-Xg) | 2L->X9_( S1>XE @)
2l_>X (o) oe s=u(n) b > X (4) 2_>x(q) t > x(d)
2l < x(q) oe=u(l) v <x(1) Z_<x(9) v < x(N)
g<XE @ | St-=us_@)| 0O2_<x5_() gl >X9_(9 6<G+XQD
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Why Did They Try To Build A House On
| Orgo’s Head?

Solve any inequality below and draw a straight line connecting it to the inequality
that describes the solution set. The line will cross a number and a letter. The number
tells you where to put the letter in the boxes at the bottom of the page. Keep working
and you will discover the answer to the title question.

S N W O N N N W W W W W W W W W WAV W W o v v v

L WL WL L L LW oV, oW T VL LY T, N N WL L Y LW YL WL YL VLY WL Y,
R e T e S S Ess
(2 ) (2 2 L) () L (2 (] () L) L) () ()
|

® 3 +8>2 - x = 21
@ 7x —1<20 l a2 ® m x>5
@ 8 —4x>"12 8 ® ® " x>"2
@ B5x-9="4 = ® = x>"4
®63+12x<15 = mox<7
® 8x +25<731 = (D@ B x<3
@ 10+ 2x="52 ® ® © ® @ = x=71
® 15>6x -9 & Q) ® " x <14
Q@ 48 <20~ 14x m © mx=7
©60>%+3 ® Ve u x<-7
@18-10x <722 = @ mox>"9
7<3X‘“§'8 L @ @ B x<5
@ 1x-8<64 W oo @ @@ ®® B x<4
@ "17>"7x —45 = ® ® m x4
(9 3x — 42 <0 ] @ @ x> "11
6 44="8x —44 m ® B x="6
@4 +12>"24 = ® m ox <4
_17S“:6X+25 ® B ox < 2
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